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NEAMIBHEAMN 29 L A X3 95,600 118,500 A 22,900
& 6,000
= 89,600
201 LBt 6,600 9,500 A 2,900
01 AP 22| H| 6,600 9,500 A 2,900
OXN<EAMNIEE OIME M &
10,0008 x50 *23| 1,000
ORI A&l Basy
70,000 *40H x23| 5,600
307 2Iz2to| A 89,000 79,000 10,000
= 6,000
= 83,000
02 QI AAIE E X 33,000 13,000 20,000
OXNGMIBEEAM IS 4,000
OME=SX AECYX SAXN LS U 4,000
OdElLlsHyH 29 25,000
03 I HEHESIHIEX 48,000 58,000 A 10,000
OXEMIEBEEHEAM 22X 48,000
= 6,000
= 42,000
04 SIZ2ISHAAISH E & 8,000 8,000 0
OHM123 E24 A=K SHOIE &AL 8,000
A2 S At &2l A 7,600 7,600 0
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SN FUSKD
M 5 U= X A
SR AN Y RF (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,800
s 3,800
201 24l 3,800 3,800 0
= 1,900
s 1,900
01 At 2t 2l 3,800 3,800 0
OAtedl 22l 29l 3,800
= 1,900
s 1,900
301 et A= 3,800 3,800 0
= 1,900
= 1,900
01 AR 2Z A5l 3 3,800 3,800 0
OArdl el tHat= XI& 380,000& x10H 3,800
= 1,900
s 1,900
SHIGAMIEZEAM 2N 42,000 20,500 21,500
< 15,000
s 27,000
201 £B-2dH| 10,000 11,000 A 1,000
< 5,000
s 5,000
01 At 22l 7,000 8,000 A1,000
OSHINIANIEZEAM BE2 7 3,000
< 3,000
O=XXad SN s &2t
10,0002 200 2,000
< 2,000
OSHIAAEZEAN 58 HMA
10,0002 2002 2,000
03 & Ar2 Gl 3,000 3,000 0
OSHENAMNILZEAM A& W=F 3,000
301 gt d= 12,000 9,500 2,500
09 SALAHIEA S 12,000 9,500 2,500
OSHXNIAANIEZEAM Atcllalo A 12,000
307 glz2+ol & 20,000 0 20,000
= 10,000
e 10,000
11T MIEXASEX 20,000 0 20,000
OX<g EstAtd =&l 20,000
< 10,000
s 10,000
SHE XEFE SSMHA XA 84,000 84,000 0
= 58,800
s 25,200
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SOl APBIOEY PE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 25,000 25,000 0
= 17,500
s 7,500
01 At 22l 19,000 15,000 4,000
OAtedl2tel 24l 19,000
= 13.300
s 5,700
02 2324l 6,000 10,000 A 4,000
OStEXIZI0l S4ltl 6,000
= 4,200
s 1,800
301 getE 4= 59,000 59,000 0
= 41,300
s 17,700
01 MEI2EZE +6l= 59,000 59,000 0
OArell CH & RE X & 500,000& x118H 59,000
= 41,300
[ia 17,700
Hel2 HS =2 92,000 92,000 0
301 L2 LS 92,000 92,000 0
01 MEIBEE 053 92,000 92,000 0
OMSIISEXIAIE 2 Oed2HSE f2(8E, dY) 92,000
119 8¢9 & 23 40,000 30,000 10,000
< 15,000
[ia 25,000
402 RIZ2EXt20l 40,000 0 40,000
< 15,000
[ia 25,000
02 2IZt 2 AL EZ (OIS ) 40,000 0 40,000
OM19 sl¥o & AZES(1HIH) 40,000
< 15,000
e 25,000
ArESl RO 80,000 80,000 0
402 QI2H X201 M 80,000 80,000 0
01 2I2F 2 A B (KR 80,000 80,000 0
OMES R ME(1S) 40,000
OAME BRI HE= 40,000
=51 st nsH XA 6,750 6,109 641
< 6,750
101 @124l 5,940 5,376 564
< 5,940
04 JIZHHNZ2Z2XNSE =+ 5,940 5,376 564
Ox&1 st w=sd XA 1,980, 000& »3H 5,940
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,940
201 LBt 810 733 77
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01 AP 22| H| 810 733 77
Ox=&s1 st WRH X Letedd| 810
= 810
282X 146,170 157,020 A 10,850
= 115,816
= 14 477
= 15,877
201 2Et24Ay| 1,400 1,400 0
01 AP 2t 2] H| 1,400 1,400 0
OdalZ2 SN/ 3 HHALE
70,000& x5 x4 3] 1,400
301 et A= 144,770 155,620 A 10,850
= 115,816
& 14,477
= 14,477
01 Al B & A 46 2 144,770 155,620 A 10,850
Oo2a=X 144,770
= 115,816
== 14,477
= 14,477
SESXIAN 29 11,320 13,120 A 1,800
201 et 9| 11,320 11,920 A 600
01 AR 22l ] 3,400 4,000 A 600
OSE T A2t Let==H| 1,000
OS&e X A2 S| 8,000 x254l x12& 2,400
02 232 H4| 7,920 7,920 0]
OolH2E sHisR2 7,920
FAHSES B3 9,032,948 8,042,439 990,509
= 4,513,994
& 995,286
= 3,523,668
SOl EXAIE XA 3,920,198 3,843,379 76,819
= 1,383,866
o= 458,269
= 2,078,063
O HFAIE 2H 1,974,165 1,984,979 A 10,814
= 1,381,916
= 177,675
= 414,574
307 212t0| & 1,974,165 1,984,979 A~ 10,814
= 1,381,916
= 177,675
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= 82,700
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s 84,500
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< 6,800
s 84,500
10 M2 SXNANEHE2IHEX 91,300 91,300 0
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< 6,800
e 84,500
AMZEMHR =2AEsA 29 90,000 80,800 9,200
< 40,000
fia 50,000
307 glz2tol & 90,000 80,800 9,200
< 40,000
s 50,000
10 ALl SXAIEEE2EH EX 90,000 80,800 9,200
OXfel F=2AESA 2 (1IM2L) 90,000
< 40,000
[ia 50,000
=HSgHH 29 125,650 114,000 11,650
< 5,650
[ia 120,000
307 21201 A 125,650 114,000 11,650
< 5,650
e 120,000
10 ALSISXAIEEE2GHEX 125,650 114,000 11,650
QXS =0HSIHH 2L (1HLA) 125,650
< 5,650
s 120,000
StOISHH 2 20,000 80,000 A 60,000
307 g2+l & 20,000 20,000 0
05 BIZERI & 3 20,000 20,000 0
OstotSdH /& 24l 20,000
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& 7,704
= 17,976
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01 Al E& X 462 25,680 25,920 A 240
OJI= MOt == 20 &HOHE=E(107E) 25,680
= 7,704
= 17,976

oo =dl X 166,557 59,036 107,521
= 133,246
= 33,311

308 XX SHHSO0IA 166,557 59,036 107,521
= 133,246
= 33,311
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= 133,246
= 33,311

AFFOHQ HASAY X2 1,050 5,250 4,200
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= 525

301 LBt A= 1,050 5,250 A4 ,200
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OMTEOfQ HH=y X2 1,050
& 525
= 525

20 SSAAHE 29 2,000 2,000 0
= 1,000
= 1,000

301 LptR &3 2,000 2,000 0
=2 1,000
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93,620
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ZOHe =<0/ wsHl X

EURLY
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307 21201 A

M

224,050

89,620
134,430

175,592

48,458
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o 11,016

307 glz2tol & 73,440 60,480 12,960
= 51,408
< 11,016
s 11,016

05 RIZHRIEt 3 73,440 60,480 12,960
OggmMa A X 73,440
= 51,408
< 11,016
[ia 11,016

2L B2 &4 X 1,920 1,920 0
2 1,344
< 288
s 288

307 21201 A 1,920 1,920 0
2 1,344
< 288
[ia 288

05 RIZt2IEt = 1,920 1,920 0
OggdeIE: Ad NA(1Y) 1,920
2 1,344
= 288
s 288

LI FAESAHHA 33,839 0 33,839
= 23,687
< 5,076
s 5,076

307 glz2tol & 33,839 0 33,839
= 23,687
< 5,076
[ia 5,076

05 RIZHRI & 3 33,839 0 33,839
OgZHMe FAnESMHH A X 33,839
= 23,687
< 5,076
[ia 5,076

LM Lus SSMHUA 20,510 0 20,510
= 14,357
< 3,077
[ia 3,076

307 glz2+ol & 20,510 0 20,510
= 14,357
< 3,077
e 3,076

05 RIZt2IE = 20,510 0 20,510
Oggze &= ssAHUA X 20,510
= 14,357
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= 2,400
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= 1,600
= 2,400
11T AISIEXAIEEX 4,000 7,600 A 3,600
OXEM gtat)| 2t SSAIY 4,000
& 1,600
= 2,400
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= 1,800
=} 18,124
2 204,444
SO EOAAERRHE 2 55,000 55,000 0
& 16,500
= 38,500
307 QI2t0| ™ 55,000 55,000 0
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= 38,500
10 A SXANEEHESIGHEX 55,000 55,000 0
QXL HOYAILXNKAEH 2H(1HA) 55,000
= 16,500
= 38,500
SOOI HOIAlAE A 30,000 43,300 A 13,300
201 et 6,000 5,800 200
01 AFR 2t 2| H| 6,000 5,800 200
OO HOAIE 22 HZ 1,000
OXHMNEHYAIEH Y EAxE 2,000
OO oA Jid = 1,000
Q&S =XNHEXN WH(6T) 2,000
401 Al HI L £ 0HHI 24,000 24,000 0
01 Al& B 24,000 24,000 0
OZOHRl HOIAIA AH| 24,000
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= 1,800
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ZO0HC EXD|P Y HOIAH| 3,008 3,606 A 598
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